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QI. Suppose a 6-m forward contract on shares of ITC Limited is available. The current market price
oF I'll: is Rs 484. If the risk-free interest is 6% per annum what should be the price of the 6-month
l-orward contract? if the current market pricc if 1’1-C future is 488. llvaluatc thc arbitrage opportunities
and dcterlninc thc arbitrage pro lit and loss with respect to stock pricc upward and downward. (CLO
3; B’F Level V, II1; 2 X 3= 6 marks)

Q2. XYZ Corporation, a US-based company, imports goods from the UK and has a future payment
of £1,000,000 due in 90 days. If the current future price is §1 .31/£. In 90 days, the exchange rate in
the spot market is $1.34/£. and the currency futures price is S1.36/£. The futures contract has a
notional valuc oF£ 1 00.000 per contract.

2 a) Determine the risk associated with the investment and suggest a hedging strategy fo, the US-
bascd company.

2 b) Compute the basis risk if exist and estimate the value for the trader at maturity?

(CI,O 2; BT I,evel Il, IV; 4 X 2= 8 marks)

Q3. A stock is selling for Rs 75. Call option as well as put with strikc of Rs 80 and maturity of 3

months are available on the stock.

3 a) What is the minilnuln price these options must be if thc risk-frcc rate of interest is 12% p.a. with
monthly compounding?

3b) if the stock pays a dividend of Rs 2.00 in one month. l':valuate how this would affect the minimum
price arrived at in a).

3c) Evaluate the arbitrage opportunities with the market price of options higher or lower than the
minimum value. (Cl JO 3; BT Level V, 111; 3X 2= 6 marks)



Q4. Assess the ilnporlarIce of I)elta and (;amlna and compute the value of both Greek letters for at-the-money

6900.call and put options with three months to expiry. ’1-he volatility of the underlying stock is 3 1% and risk-

free rate is 6.5% continuously compounding (CLO 3; BT Level V; 6 marks)

QS. A call option with an exercise price uf Rs 50 costs Rs2. A put option with a strike price of Rs 45

costs Rs 3. Determine ho\v a strangle can be created from these two options and Illustrate profit
proiilc of strangle, suppose stock price on expiration data is ranging from 40 to Rs 60. (CIJO 2; BT
I,cvel III, IV; Marks: 3 X2=6)

Q6. ’1'he risk of spot prices on gold as measured from its standard deviation is placed at Rs 130.
Similarly. the price risk of the 3-m futures contract on gold is estimated to be Rs 180. The co-efficient
oF correlation between the two is placed at 0.15. In order to hedge spot position on gold, determine
ratio of futures contract would be optimal? (CLO 2; BT Level III; Marks: 4)

Q7. Consider a multinational corporation. Company A, based in the United States, and Company B,
based in thc United Kingdom. Both companics have dil'fcring financing nccds in terms of interest
rates and currency exposure. Company A has access to a low -interest rate in USD but needs to raise

£'unds in (iB Ii f'or a project in the UK. Colnpany 13. on the other hand. has access to a low-interest
rate in GBP but requires I'unds in USD for its expansion in the U .S.

IlxpIain the concept of a currency swap and how it could be beneficial for both companies in this
scenario as well as the potential risks associated with currency swaps for both parties involved.
Analyze how exchange rate tluctuations might impact the succcss of this currency swap, and what
risk nranagcnlent stratcgics could be employed to mitigate thcsc risks. (CIJO 2; BT Level IV;
Marks: 4)


